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qast : (1) QA oglisey uadldl AR Gl dHR]l GrrAgHL o UL

(2) el sugl »is ws-il @t suld 8.

1 Al otglisey acl-l AL G GrradlHl @vil : 20
(1) 2006-07H1 Md™l AAAMS VLd QUAL 326l $AMHL 2lde 7
(A) 203.40 a2+
B) 207.30 @AM e+
(C) 216.52 alv e
D) 333 dv e~
@)  ed A gl-l Uelllmi uedda sl vied. ... ..
A use sl
B) -l sila
(C) HauqM sila
O) sRwl sila
(3) IRl 2008-0941 i-%+] Geuler 32d Ay &d ?
(A) 2086 dalvl 2+
B) 2173 a2+
(C) 2368 dlv e+
D) 2308 4w e+
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©6)
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@)

©)

(10)

MRRdHl 1991 2elRls [l 32al Geloll Wiz dla-d WAl AlY

AuAHL 2dd 7

(A) 15 Geloll

B) 17 Geloll

(C) 18 Geloll

D) 16 Geloll

FHL 6%l gL S (el daMl lddl Sl d a1 AU
sl sud 8 7

A)  Geo(lsel

B) GelllswL

(C) ru(lsw

D) aAludlswL

2006-0741 $& (M504l -l se-l A1l 2sta] (BRI 32dl ¢dl ?
(A 34.3%

B) 32.9%

©) 31.2%

D) 40.5%

HeyH, seedl AL Gewie ugli 3l o © ?

(A) =™ uHIA

B) 2au yduw- B

©) Hduu-

D) »ad- egldlubl-

114l Aol ydAseiel elal 21 &t waH 2AdSH 2l
) ¢ ?

Q) Gulsa &siq

B) Geldl iR vl &t

(C) WHUxs Aql &t

D) AUSWHASR &1

111 or-uml sd1 RuSlA A gL Al Ay Rl Haqalsd «1ssl
AL 2 © 7

(A)  A8WAAL Gl

B) [l v

(C) ug as-l yid

D) e dal YO 2198

MRl vidlast sl sifidl az2ud sl 4 ?

(A) 1958-594i

B) 1973-744i

(C) 1966-674i

D) 1969-704i
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(11) HauN sifa vied g ?
A sRadlsila
B) use sila
©€) -dl sila
D) GUAsd ARA sildila AYs
(12) Aluslsei-l deeldi su1 sl Ax-dl Ysd 83-{l suolanl aidl & 8 ?
A [sBa 22
B) efasua sl
©€) [Rsdla e
D) dfasha 2ol
(13) 208 &l Gellolldl sl AlsfAA Al 2udl @ 8, dq g
s8q1y 7
A) GelRlswL
B) aAludlsel
(C) runellswL
D) Jad-deq-2
(14) 2007-0841 clRa-(l uAdld uHLlL 3ed 8 ?
A) 3. 9,32,330 A3
B) 3. 9,64,850 A3
(©) 3. 840,506 513
D) 3. 855,823 A3
(15) 2006 ol -l se-l AsAAl YAl Halel 3eel s8] sl
il 8 7
A 3. 4 K3
B) 3.5 KW
©) 3.3 KR
D) 3. 2 K3
(16) Rdld edd=ui sl Gelolld (A Mo Wy © 7
(A) Al 2 R Gall
B) Hlel Gelll
(C) aulall axgail-il Gellol
D) AL el

(17) 2007-08 i il se-il AleAl (Geled)+l vl dedl odl ?
(A 1,33,67,000
B) 1,15,65,000
(C) 1,44,51,000
O) 1,25,35,000
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(18) 114l A=l AHAWN S2al 155l UL & 7
(A) 1/4/2007 4l 31.3.2012
B) 1/4/2006 4l 31/3/2011
(C) 1/4/2008 4 31/3/2013
D) 1/4/2009 ol 31/3/2014
(19) sRuull sila-i Fals uRetmi Aumiyl su1 wResli-)l A+ ddl
ol ?
A Rl ylaul
B) MuAAd Gewied ugla
(C) mvildR+ll aurla
D) Y5 viaulasd
20) 114l Nl asuisf{l e[l 3dl © 7
A) Hswsiall
B) ardasl
©) 2l Hewasial
D) Hgeviad disl wR ud adl.

2wy sedl AsAD aduid A yxendl. 10
Yl

2 BRls yuRiAl asail qgld, 10

3 Alell WAl GellolAL Hud uaddl yuendl. 10
Yl

3 114l AUl Guull eumyil wwudl. 10

4 oRddl sRullsifaxl Malks wRolodl axemdl. 10
Yl

4 ouRadl 2Bs Yurd-Al FHsadizd aeudl. 10

5  ddl sRallsifa-dl Rlfgall auendl. 10
Yl

5  Aluglsel elRanl 2ddal wsl 24 LA, 10

6 &5 <Y avil : (515 ULl %) 10

1) MRadl sRullsila-dl Halei
©2) GellswL
(3) 11l AW~ AMHAL YIS
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ENGLISH VERSION

Instructions : (1) Write right answer of M.C.Q. in your

answer book given below.
(2) Figures or right side indicate marks of questions.

1 Write right answer of M.C.Q. in your answer book given 20
below.

ey

)

3)

4)

()

©6)

What was the consumption of fertilizer in India in 2006-07 ?
(A) 203.40 lac tons

(B) 207.30 lac tons

(C) 216.52 lac tons

(D) 333 lac tons

In milk and milk based product revolution means

(A) White revolution

(B) Blue revolution

(C) Rainbow revolution

(D) Green revolution

How much food grain production was 2008-09 in India ?
(A) 2086 lac tons

B) 2173 lac tons

(C) 2368 lac tons

(D) 2308 lac tons

How many industries licence policy was continue in
1991 industrial policy in India ?

(A) 15 industries

(B) 17 industries

(C) 18 industries

(D) 16 industries

Which name is given to the mechanism where the
economic determinations makes by market mechanism ?
(A) Industrialization

(B) Liberalization

(C) Privatization

(D) Globalization

What percentage part was to small scale industries

in total exports of India in 2006-07 ?

(A) 34.3%
B) 32.9%
(C) 31.2%
D) 40.5%
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(7)  Which method is used for production by medium
scale industries ?
(A) Labour incentive
(B) Labour-capital mixed
(C) Capital incentive
(D) Modern technology incentive
(8) Which sector given first priority according to
investment in 11th Plan ?
(A) Energy sector
(B) Industry and mineral sector
(C) Social service sector
(D) Communication sector
(9) Which monetary tool given most priority for finance
collection in 11th plan ?
(A) Public sector industry
(B) Foreign capital
(C) Surplus of running income
(D) Market loan and capital income
(10) Green revolution in agriculture sector was started
in India in

(A) 1958-59
B) 1973-74
(C) 1966-67
O) 1969-70

(11) What is the meaning of rainbow revolution ?
(A) Green revolution
(B) White revolution
(C) Blue revolution
(D) Above all revolution
(12) The countries take objection in the matter of labour
transfer liberty in concern of globalization is
(A) Developing countries
(B) Less developed countries
(C) Developed countries
(D) Half developed countries
(13) What is said to the public sector industries which are being
sold to the industrial adventurous ?
(A) Liberalization
(B) Globalization
(C) Privatization
(D) Daisinvestment
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(14) What was the amount of imports of India in 2007-08 ?
(A) Rs 9,32,330 crores
(B) Rs. 9,64,850 crores
(C) Rs. 8,40,506 crores
(D) Rs. 8,55,823 crores
(15) The criteria for investment has been fixed for small scale
industries since 2006 1is
(A) Rs. 4 crore
(B) Rs. 5 crore
(C) Rs. 3 crore
(D) Rs. 2 crore
(16) Which industries given more importance in Indian
economy ?
(A) Small scale and home industries
(B) Big scale industries
(C) Industries of consumptive items
(D) Service sector industries
(17) How many units of small scale industries was in 2007-08 ?
A 1,33,67,000
B) 1,55,65,000
(C) 1,44,51,000
D) 1,25,35,000
(18) Which time period is fixed for 11th Five Year Plan ?
(A) 1/4/2007 to 31.3.2012
B) 1/4/2006 to 31/3/2011
(C) 1/4/2008 to 31/3/2013
D) 1/4/2009 to 31/3/2014
(19) Which factor is not introduced as a certain factor of green
revolution ?
(A) The facility of irrigation
(B) Traditional system of production
(C) The use of fertilizer
(D) Modern agriculture tools
(20) How is the 11th plan according to its targets ?
(A) Ambitious
(B) Realistic
(C) High ambitious
(D) Most probably target achieveing
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2 Explain the problems of medium scale industries in present. 10

OR
2 Describe the successes of economic reforms. 10
3  Explain the main problems of small scale industries. 10
OR
3  Show the bright sides of 11th plan. 10

4  Explain the determine factors of green revolution in India. 10

OR
4  Show the failures of economic reforms in India. 10
5  Explain the achievements of green revolution in India. 10
OR
5  Explain the effects of globalization on Indian economy. 10
6 Write short note : (any one) 10

(1) Limitations of green revolution in India
(2) Liberalization
(3) Challenges with 11th plan.
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